Самостійна робота

3 рівень

№ 26

4 рівень

Задача 27

Лист самоконтролю

3 рівень

14-7=7                      12-9=3

7+9=16                     3+7=10

16-7=9                      10+8=18

9+2=11                     18-10=8

11-5=6                      8+9=17

6+6=12                     17-3=14
4 рівень

Задача 27

1) 4+7=11 (м) – тканини відрізали всього.

2) 16-11=5(м)

Відповідь: 5 м тканини залишилось.
Задача 27  2)

1) 6+7=13 (к.) – було всього.

2) 13+4=17 (к.)

Відповідь: 17 кульок стало.
